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Abstract. We study a multiple-urn version of the Ehrenfest model. In this setting, we
denote the 7 urns by Urn 1 to Urn 1, where n>2. Initially, M balls are randomly placed
in the n urns. At each subsequent step, a ball is selected and put into the other n—1
urns with equal probability. The expected hitting time leading to a change of the M
balls’ status is computed using the method of stopping times. As a corollary, we obtain
the expected hitting time of moving all the M balls from Urn 1 to Urn 2.
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1 Introduction

We extend the classical two—urn Ehrenfest model to the multiple—urn case. Label the n
urns by Urn 1 to Urn n, where n > 2. At the beginning, M balls are arbitrarily placed
in the n urns. Then at each time, one ball is chosen at random, taken from the current
urn it resides in, and placed in one of the other n—1 urns with equal probability. This
model can be treated as a symmetric simple random walk on the graph Gy = (Va, Em),
where V= {1,---,n}M, and E contains edges connecting two vertices in V) if exactly
one of their components differs. Here the subscript “M” is to stress that the number
of balls is M. Therefore, Gy is a transitive graph (that is, for any e,e’ € Ey, there is

an automorphism of the graph that takes e to ¢’) with n vertices, and each vertex has

common degree (n—1)M. Strictly speaking, if we let X; = (Xt(l),---,Xt(M)) be the state

at time t=0,1,---, where Xt(l) is the number of the urn in which the ith ball resides at
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time t, then {X;: t=0,1,--- } is a time homogeneous Markov chain on Vj; with transition
probability

_ (n_ll)M, if there exists i s.t. x; #y;, and x;=y; for j #i; 11
p(xl,---,xM)r(ylr”'/yM) - 0, otherwise. ( . )

For x1,---,xp €{1,2,--- ,n}, denote by

T(x "'er) :1nf{t20‘ Xt = (xll' ..’xM)}

1,

the first time that { X; } hits state (x1,---,xp). Our main result is described in the following
theorem.

Theorem 1.1. For any two different configurations (ay,---,an),(b1,-+,byp) € {1, ,n}M, de-
note L=yM, 1(4,—p,)- Then

]E(T(blr'“/hM) ’ XO:(all'”/aM)): M—1 Z i

where 1 ) denotes the indicator function, and ( ::1) :=————— (0<m<n) denotes the com-

binatorial number.

Note that when L =M —1, the righthand side of Theorem 1.1 becomes

(n—l)MAil (]\1/1) .
= (n—1)"

which equals to nM—1. This is a well known result in Markov chains.
As a special case, we obtain the following corollary, which provides the expected
hitting time of moving all balls from Urn 1 to Urn 2.

Corollary 1.2. We have

Mk
E T(a/_z/) Xo= (1,1,---,5) = wkzl%
M M -

Remark 1.1. (1) Chen et al. [3] proved Corollary 1.2 for the special case n=3 by using the
method of electric networks. They conjectured that the result for general multiple—urn
case should be of the form as stated in Corollary 1.2.

(2) Corollary 1.2 is a special case of Theorem 1.1 by letting L =0. This is not a straight-
forward result. A key step is to establish the equality

M-1 (n—l)k k (1\1/1) B 1M K

k=0 i=0
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It is true. Although it is well known that one cannot get an explicit formula for the inner
sum YX_ (M) /(n—1)! for fixed k, we can simplify the double sum on the left side of (1.2)

1
to the form on the right side. In fact, by direct calculation, we obtain

")
MM

M-1 k .
Left hand side of (1.2)= ) Z:(n—l)k_Z
k=0 i=0
k k—i ;
; (n—1)""B(k—i+1,M—k)

Zk:<ll<> (n—1)k_i-/olsk_i(1—s)M_k_1ds

[1+(n— )S]k(l_s)MkldS:/ol [1+(n—1)5111;/1_(1_5)1v1

Il
™

ds

Il
-
Il
o
S—
i
—_
+
=
[

T
(X

I
M=
S—.

k=1

(Ak/I> (ns)*"1(1—s)M-*ds = ﬁ (Ak/I> n B (kM —k+1)
1

=Right hand side of (1.2),

T
(X

Il
=
‘:
»

where B(+,-) denotes the Beta function. Therefore, (1.2) is obtained.

The Ehrenfest model was proposed in Ehrenfest & Ehrenfest [5] for the first time. It
is “a test bed of key concepts of statistical mechanics” (see Meerson & Zilber [8]). There
are many problems concerning this simple but insightful model. The study of the hitting
time was first restricted in the 2—urn case, see Blom [2], Lathrop et al. [6], Palacios [9], etc.
The multiple-urn model has attracted much attention recently in both theoretical and
application fields, see for example, Xue [11], Aloisi & Nali [1], etc. So it is worthwhile to
investigate the model more deeply.

This paper is devoted to a purely probabilistic proof for Theorem 1.1. The method
we used is original as far as we know. There are other alternative methods available.
For example, the method of electric networks can be used. Readers can refer to Doyle
and Snell [4] or Lyons and Peres [7] for the introduction of this method. Palacios [9]
used the method of electric networks to consider the 2—urn case. Chen et al. [3] used
this method to consider the 3—urn case. However, it may become difficult to use the
“Y-Delta” transformation to simplify the network when the number of urns # is large,
especially when n > 4. We mention here that Chen et al. [3] stated the main difficulty
in the conclusion section of their paper. Besides, the method of the auxiliary Markov
chain (which only considers the number of balls in one fixed urn) inspired by Blom [2]
and Lathrop et al. [6] can also settle this problem. Very recently, Xin et al. [10] obtained the
distribution of the hitting time, which can imply its expectation, too. The strength of our
present method is to make a good illustration for the recursive formulas (2.1) and (2.24)
below, especially for the special case (2.24).
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The rest of this paper is organized as follows. In Sections 2, we will utilize some
stopping times to set up the recursive relation. In Section 3, we will use the above recur-
sive relationship to prove Theorem 1.1. And in Section 4, we will give some concluding
remarks.

2 The recursive relation

We fix the number of urns (1) and let the number of balls (k) vary. If we consider k balls,
then {X;} becomes a symmetric simple random walk on the graph G, = (V},Ey), that is,
the state space of {X;} becomes V= {1,--- ,n}¥, and the transition probability is

_ m, if there exists i s.t. x; #y;, and Xj=y; for j #i;
Pl () 0, otherwise.

For any L >0, define

SLk = <T(2/2/m,2) XO = (2’...’211’...’1)>

N =
k L k—L

for k> L. By the transitivity of Gy, if 2?:1 L=y = L, then
IE(T(blr"'/bk) ’ XO = (all' o /ak)) :SL’k.

Our main step is to prove the following proposition, which gives an recursive formula
for {spx: k=L,L+1,---}, where L >0 is fixed at first.

Proposition 2.1. {s; x: k=L,L+1,---} satisfies the recursive formula

Kk g n—1& (k-1 L ‘
SL,k—mSL,k,1+(H—1)n —|—(kil);<i_1>(n—1) , k>L4+1;

SL,LZO.

2.1)

Remark 2.1. The intuitive description for the recursive formula (2.1) is as follows. If
{X:} hits (2,2,--,2) from (2, 2L \,-1/)' the first k—1 components (denoted by {Y;}, whose
k L k-L
rigorous definition will be given in the proof of Lemma 2.1) must hit (2,2,--,2) from
N’
k-1
(2,---,2,1,---,1) first. Since {Y;} can be seen as a “delayed” random walk on V;_1, the

L k-L-1
above procedure will take %s Lk—1 steps on average. Then it will take some more steps
to reach the destination.
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The rest of this section is devoted to a strict proof of (2.1). For any (x1,---,xk—1) € Vk_1,
define

A(xl’,,,/xk_l) = {(xl,- --,xk,l,xk) X E {1,' .. ,Tl}}.

Thatis, A(y,.... x, ,) contains all points in V} such that the first k—1 components are x1, -+, X 1.
Now we define several stopping times. First, define

Tr=inf< t>0: X;=(2,2,---,2)
N’
k

Then
SL,k:]E(2,---,2,1,---,1)(T)' (2.2)

N~ ——
L k—L

Next, for any k> L, we define a sequence of stopping times {1 ;: k=0,1,2,--- } inductively
by T o=0and

Tk i =inf{ t> Tii—1: Xt € A(z,---,z)
(N
k-1

for i >1. Clearly, for any k> L,

]P(z,---,z,l,---,l) <U {Ty= Tk,i}) = Z]P(z,---,z,l,---,l) (Tr=T,i) =1.

NN A
Lokr NEL =TT
The next two lemmas give some important properties of the above stopping times.

Lemma 2.1. We have

E(, o) (Thi = Thi1) =
22l
L k—L

%SL,kfl/ lf Z:]-/
nk—1 if i>2.

Proof. We define two auxiliary Markov chains on Vj_;. First, denote

o= (xY, -, xEY)

for t=0,1,2,---. Then {Y;} is a Markov chain on Vj_; which illustrates the positions of
the first k—1 balls with transition probability
x ify=x;
1 ify~x;

Pxy= (n—1)"

k
0, otherwise.
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Here the notation “y ~ x” means that y is a neighbor of x.
Next, denote by {Z;} the Markov chain on Vj_; which illustrates the process with
k—1 balls and n urns with transition probability

i ify~y;
qu:{ (1) (=) 4

0, otherwise.

For xeVj_q,let fy=IE,(Ty_1) for {Y;} (thatis, under the transition probability {px,}).
Let gy =IE(Ty_1) for {Z;} (that is, under the transition probability {q.,}). By the transi-
tion probability {q., }, we know that {g, } satisfies

1+(k Tt Zgy, if x7#(2--,2);
_ k-1
8x=9 o, if x=(2,---,2). (2.3)
N——"
k—1

Similarly, by the transition probability {px,}, {fx} satisfies

1 1 : .
1+F‘fx+mygxfy/ le#(&k:’.l;%),
fi= 0, if x=(2,-,2). (2.4)
——
k—1

Note that (2.4) can be written as

e T 5L, i)
fo— 0, ifx=(2,~~-,2). .
——

=

k—1

Comparing (2.5) with (2.3), we can see that {g,} and {k_Tl fx} obey the same difference
equation and have the same initial value. Therefore,
-1
Q= fo for any x € Vj_;.
Especially,
fean ) = g8 20

——— ———
L k-L-1 L k-L-1

Since E(, ., 1..1,q)(Tk1) is the same for any a€ {1,---,n}, we obtain

f(z,«-«,z, 11) = E(Z,-«-,Z,l,«-«,l) (Tk,l)'
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Together with the fact that g(,..., 1...1) =5 k-1, We get
N
L k-L-1

k
Ep o) (Th1) = o Lk-1-

o N —
L k—L

Furthermore, since {Y;} is a reversible Markov chain on Vj_; (with n*k=1 vertices),

there exists a unique invariant distribution which puts an equal mass of —— on the nk=1
e
vertices. SO B, 5, .1y (Thi — Thi-1) = n*=1 for any i=2,3,---, as desired. O
e
L k-L

Lemma 2.2. Foranyi=1,2,--- and t >0,

]P(z,u-,z,l,m,l) (Tk — Tk,i+1 =t ’ Tk > Tk,i) :lP(z,u,z,l) (Tk —Tk1—= t)'
e e ——

L k—L k-1
That is, {(Tx—Tki+1 | Tk > T;) } have the same distribution for i=1,2,---.
Proof. Note that
{Ti>wit=U {er,f = (&'\;%,X)}

X#z k—1

for any i=1,2,---. From the strong Markov property, for any t >0,i=1,2,--- and x #2,

lP(z,---,z,l,---q) <Tk_Tk,i+1 =t ‘ XTk,i = (2,~~~,%,x)>

L k-L k—1

(o]
=2 Pp2n) (Tk—Tk,izme Thit1— Thi = M ‘ X = (21"'%'x)>

L k-L k-1

= (i%,x) (Tk —Tk1—= t) = H)(i%,l) (Tk —Tk1—= t)-

k-1 k-1

The last equality is due to the transitivity of Gi. Therefore,

Pong ) (Te=Thip1=t | Ti>Ti) =P o1y (Th—Ti1 =t)
L k—L k—1

foranyi=1,2,--- and t >0, as desired. O
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Fori=1,2,---,k, denote

1

k—
Byi 1= {(xl,---,xk) eV Zl{x(ZZ} =i—1, x; 752},
(=1

k-1
{0 500 By =i xem2),
(=1

where 1) is an indicator function. Then Vj = U%,f:l B,,. By the transitivity of G, Py (T, =
Tk 1) is the same for the x’s belonging to the same By,. So P, (Ty=141) =P, (Tx =14 1) for
any m=1,---,2k and any x € B,,. Denote p,,=Pp, (Ty=11) for m=1,---,2k. Note that we
do not need to emphasize k in the definition of B,,’s and p,’s since k is fixed now.

Having defined the p,’s, we can write down the “embryonic” version of the recursive
formula (2.1).

Lemma 2.3. Forany L>0, {syx: k=L,L+1,---} satisfies

k 1—por1 k-1
Spp= s g+ —2H L )kl k> L1

SL,L =0.
Proof. sy, =0is obvious. When k> L—+1, let

u ZIE(Z,«-«,Z,I,-«-,I) (Tk _Tk,l)/ % :]E(Z,-«-,Z,l,-«-,l) (Tk — Tk,2 | Tk > Tk,l)'
NN SIS
L k-L L k-L

Thenby Lemma 2.2, E, . ,, ..y (Tk—Tk3 | Te>Ti2) =v. Similar to the proof of Lemma 2.2,
T
we can get

-

IE(ZF.A,Z,L.A.J) <Tk - Tk,l

LI
L k-L k—1

]E(2,---,2,1,---,1) (Tk — Tk ’ Ty > Tk,l)/ if x #2;

N~
- L k-L

0, if x=2.

)
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Therefore,

NI
L k—L
:ZIE(Z,W,Zlm,l) (Tk_Tkl XTkl_(zr ,2,x>> ]P<XTk,1_(2/"'/2/x)>
\\\\\\ N——
X#2 L kL k—1 k—1
:]E(z,---,z,l,---,l) (Tx —Tk,1 ’ Ty > Tk,l) : Z P <er,1 = (2\,\;2/,x)>
T x#2 k-1
=(1=par+1) By ) (Te=Ti1 | T > 1) (2.7)
T oL
Similarly, we can prove
IE(Z,-u,Z,l,m,l) (Tk,Z — Tk,1 ’ Tk > Tk,l) :IE(Z,-u,Z,l,m,l) (Tk,Z _Tk,l) = nkil (2'8)
L k:’z L k:’z
and
E(yonnn)(Toa—Tk2 | Te>Theo) =By ) (Tha— Th2) =1 (2.9)
—— e —— e
L k—L L k—L

together with the result of Lemma 2.1. Also, by Lemma 2.2, we can show that

Eo o) (Te—T2 | Te>Ti1)

o N —

L k—L
:]E(z;;._,g,&u,l) (Te— k2 | Te>i2) P (Te>Tk2 | Te> 1)
L k—L L k—L
=E(.20,1) (Te= 2 | Te>Tha) Pra, 20 (Te > T )
L k—L k-1
=(1=pat1) Epppn)(Te—Ti2 | Te>Ti2)- (2.10)

N N

By (2.7) and (2.8),
u :IE(2,~<,2,1,~-,1) (Tk—Tk,l) = (1 - p2L+1)IE(2,~-,2,1,m,1) (Tk — Tk ’ Ty > Tk,l)
L k-L L k-L

:(1_p2L+1) IE(z,u-,z,l,m,l)(Tk,Z_Tk,l | Tk>Tk,l)+1E(2,4-4,2,1,-4-,1)(Tk_Tk,Z | Tk>Tk,l)

NN NN
L k-L L k-L

=(1—pors1) (1 +0). (2.11)
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263
Similarly, by (2.9) and (2.10),

v=Eq 1 )(Te—T2 | Te>T1) = (1=pax—1) B o) (Te—Th2 | Te>Ti2)
T r Iy
=(1—pa-1) [E(z,. o) (T3 = T2 | Te>T2) FE o) (Te—Tioa | Te > Ti2)
T r T
=(1-pa_1)(n* ' +0).

(2.12)
By (2.11) and (2.12), together with (n—1)pa—1+pax=1 which comes from the transitivity
of Gy, we get

4= 1oPare

—1)n* 1,
1—pax (n=1)
Then together with Lemma 2.1, we get

NN
L k-L L k-L

1—par1
k—lsL'kiﬁ— 1—pax
for k> L+1, as desired.

= lE(i%,ll) (Tk,l) +IE(2,A~,2,1,-A-,1) (Tk - Tk,l)

(n—1)n*"1
O
Comparing (2.6) with (2.1), we can see that we only need to calculate py; and par+1.
The following lemma is the crucial step.

Lemma 2.4. We have p; = pyy.

Proof. For any my,mp € {1,---,2k}, let

Jmym, :]P(Xl € Bmz | Xo€ Bml)’

which equals to P, (X €By,, ) for any x€B,,,, by the transitivity of Gy. Then for any 1<i<k,

1 i-1 k=i, 1 .
02i2i-1 =%, G2i2i2= ", Q2i2i42= "% 71/
k=i n=2 1.1 k=i 1 .
$2i2i = F "y=1, Y2i-12i= % 5=1r Y2i-12i+1="F "7=1/
o =il o _k—itl n-2
02i-12i-3= %+ 42i-12i-1= "% 3=

And gy, m, =0 otherwise. From this, we first get

k—1
Pak =2k 2k—2P2k—2 = —F—

Pk (2.13)
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Next, {p;: i=1,---,2k—2} follows

_n=2 1 1 k—1 1
pr= =11t w=iP2t+ "5 =13

_ 1 k=1 n—2 —1 1 .
P2=gP1t % =il  aT P

_ 1 k—1 n—-2 1 1 -2 1
P3=gP1+ % u=iP3tr n=iPat & iP5

(2.14)

_ k-3 1 2 52 2 1 .
Pok—4= "5 Pok—6 T £ P2k—5+ 5 =T P2k—a+ % =1 P2k—2;
k2 2 n-2 2 1
Pok—3 =" P2%k—5+ % 5=1P2%k—3+ % 7=1 P2k—2-

Note that we do not need py;_1 in the last equation since if { X; } touches By_1 before By,
then T > 77. The first equation in (2.14) implies

1 k-1
The second and third equations in (2.14) imply
k—1 n-2 1 k=1 1
<1_ k -n_1>P2—%p1+ K n—1"" (2.16)
k—1 n-2 1 1 1 k=2 1
<1‘T'm>”3—ﬁl+?n_1m+ L 217

Putting (2.16) and (2.17) into (2.15), we get

That is,

Similarly, we can inductively get

1 k—1 2 k—2 k—1
Pl — Epz_i_ k p3: Ep4—|—Tp5: ...... = szk—z (218)

The last equality is due to the absence of py;_1 as explained above. From (2.13) and (2.18),
we get p1 = pox, as desired. O

Proof of Proposition 2.1. By the transitivity of G, we can get

(n=1)p1+p2=(n—1)p3+ps=(n—1)ps+pe
=--=n—-1)px-s3+tpx-2=1 (2.19)
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Together with (2.18), we obtain

n—1

pz]-:]_—(ﬂ—l)pzj—l =1- k—j+1 lkp1— (j—l)}?zj—z]

for j=2,3,---,k—1. That s,

p2=1—(n—1)py;
_ k(n—
p —27}112:1— (kzll)ql;
Pé——(kn_E)P4=1— (;?:z)Pl; (2.20)

P2k—2— Wihk% =1- @Pl.

From (2.20),
S () -t
'z

(n—1)F1 ke (k—2)!-(n—1)k1
(k=D1G—1)r  (k=i+1)!(—1)! Pl}

<IZ<:11> (1) — (:J (n— 1)ki+lp1}

1)~ (k= 1)) 1)

(k—1)(n—1)
Together with (2.13),
k—1 1 _
Pok =1 Pak—2= m[(”k '—1) = (n*—1—k(n—1))p1]
nk-1-1 nk—1
_k(n—l)_[k(n—l)_l} p1. (2.21)
Lemma 2.4 tells us that p; = pyk. Therefore, by (2.21),
nk=1-1
pP1=pu= S (2.22)

Next, by (2.20),

1 K /k-1 , k ,
PaL42= ) |: ; 1>(n_1)Lz+1_<i_1>(n_1)Lz+2.pl]

[i <’Z<:11> (n_l)LfiJrl_LZH <if1> (n_l)Li+2.p1] ‘

i=1
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Together with (2.19),
1

P2L+1:n_1(1_P2L+2)
__ 1 Sk n—1)L-it1. _L k=1 n—1)L
—&F>b;Q—J( 1) plg;Q_J< 1>].

Then together with (2.22),

12Poba ()bt = (0~ 1) (1~ o)

1=pax
iR ey A
b e e
e Bl e
gL (e T (e

x[(1*=1) = (n=1) (0" =1) = ("1 = 1)]
_ n—1& (k-1 »
=nk 1(n_1)+("T1)i_21<' 1)(71—1)L : (2.23)

The third equality is due to the combinatorial identity

k k—1\ (k-1
(i—1> (i—1>+<i—2> fori=2

The fourth equality is due to the change of variable (from i to i—1) in the last term. Putting
(2.23) into (2.6), we can get (2.1), as desired. 0

Remark 2.2. When L =0, the recursive formula (2.1) becomes

k k—1
= — — > .
{So[k k—lso'k_l+(n 1)1’1 , k_l, (224)

50,0 =0.
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It can be easily obtained from (2.24) that

——— ——
M M

M nk—1
By | T | =sou=MO-D X
k=1

This is exactly the result in Corollary 1.2. Therefore, the recursive formula (2.24) provides
a direct proof of Corollary 1.2. We can see that our present proof makes a good illustration
for the recursive formula (2.24).

3 Proof of Theorem 1.1

We can obtain from (2.1) and (1.2) that

M k-1 M L (k—ll) .
sLm=M(n—1) Y T+M(n—1) ) Zklk—_l (n—1)L~
k=L+1 k=r1i=1 k(")
—1(;,[ 1)k+l k (M) L k-1
= — H——M(n-1)) —
k=0 (Mkl) = (n=1) k; k

M-1 k1 k(M

-1 /

In order to prove sy py = Z (n M_)l ()
=1 ( k ) S0

L—1 (n_l)kJrl k (1\1/1)
L) Sy
nk-1 MoLo(ET L
MDY M- Y Y )
k=1 k:L+11:1k( L )
that is,
i 1)k ) Mo Lo(50)) 1)L Lot 3.1
k;ﬁ;)(”_ ) 'M(Mk—l) +k—§rl;k(kfl) (n—1) _k;T G1)
Note that
ST = ) B = (50

LHS of (31)= Y (n—1)\- ¥ Y (n-1) Y
M(") i

i=0 k=i
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and by (1.2) (change M by L),

RHS of (3.1) = Lf ! -Zk:<lf>(n—1)k_i

=0
L-1 1 k < L > L—1 L—1 (kL)
= 5 ) (n=1)'= ) (n=1)f =
k:oL(Lkl) 1;0 k—i l;:) kZ::z‘L(Lkl)
So to prove (3.1), it suffices to prove that for any i € {0 1},
=) oS E G
k—i L—i—1 k—i
) v s e ) Wl rebl) M (3.2)
MM T k(DY S L
Note that
¥ ) 5 ) =i I, )
=L EMMY S )(Llffrz) k=i (i+1)(Mi_+k1+l)
DS [ o~k
=it fii N CED
% Z (i+1) k' —k—2)!
i j—k+i)!’
and

Moy M Li(j—L-1)!
k:;H k(.H _j_;rﬂ(L—i—l)!(f—LJri)!'

Therefore, to prove (3.2), it suffices to prove that for any je {L—1,---,M},

i(i—I—l)k!(]’—k—Z)!: LI(j—L—1)!
= (k—=i)!(j—k+i)t  j(L—i—1)1(j—L4i)!

which suffices to prove that for any L >i+1,

(i+1)L!(j—L—2)!  (L+1)!(j—L—2)! Li(j—L—1)!

(L—iNG—L+i)!  J(L—)l(—L+i—1)! j(L—i—1)(j—L+i)!"

which is easy to check. Therefore, (3.2) holds, and furthermore, (3.1) holds. The proof of
Theorem 1.1 is now complete. 0
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4 Concluding remarks

In this paper, we use a new, purely probabilistic method-the method of stopping times,
to compute the expected hitting time of moving from a given configuration to a different
one for the multiple-urn Ehrenfest model. As a special case, we compute the expected
hitting time when all M balls are placed in a specific urn given that initially all M balls
are in another urn. This extends the result in Chen et al. [3].

For some technical reasons, we only consider the “unbiased” case, that is, the ball
is chosen randomly and put in other urns randomly with equal probabilities. It will be
interesting to consider the case of biased or preferential probabilities in the future.

Furthermore, we know that Lemma 2.4 is a crucial step in the proof. An interesting
problem is: can we give a bijective proof to illustrate this “simple” equality immediately?
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